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1. (3%) Graph the function with a graphing utilétgd use it to predict the limit. Check your worther
by using the table feature of the graphing utitityby finding the limit algebraically.
. x®-9x?
lim —
x-92x°—20x+ 18

a)0 bB1 C)f_e:;L d)871 e)does not exist

2.(3%) Determine whether the given function is comtins. If it is not, identify where it is discontiows.
y=4x*-3x+7

a)discontinuous atx =3 b)discontinuous atx =0
c)discontinuous atx=-3  d)discontinuous atx =6
e)continuous everywhere

3. (3%) Determine the following limit.

. 1
lim
x-1 x =1

a) 0  b) does not exist )l d-1 e)-2

4. (3%) Find the derivative of the following funmti using the limiting process.

f(x)=/3x+6

1/2

b) f'(x) = - c)f'(x)=g(3x+6)

3 3
a)f'(X) =——— 2
ARY 2\3x +6 2\3x +6

d) f'(x) =- e)either Bor D

3
\V3Xx+6
5. (3%) Write the equation of the line tangenthte graph of (x) at x=7 .

f (X) = 2x* + 6X
a)y=2x—-3 b)y=2x+3 c)y=2x d)y=2x-2 e)y=2x+2

7 aub
6. (3%) Find f(x) of the functionf (x) =% X *3
X
x' —18 7x°-3 x"+3 7x°+18 7x" -18
a) NG b) NG c) NG d) NG e)T
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7. (3%) The variable cost for manufacturing an teleal component is $9.75 per unit, and the fixedtc
is $600. Write the cost as a function oX, the number of units produced. Find the derivatif/the
cost function.

a)9.75 b)600 ¢)609.75 d)590.25 )0

8. (5%) The graph shows the number of visiddte a national park in hundreds of thousands duaing
one-year period, whete= 1 represents January. Estimate the rate of ehaigover the

interval[4, 7] . Round your answer to the nearest hundred thousaitdrs per year.

Visitors to a National Park
1500

1200 - AN
900 / \
GO0 / \
300 /"‘
- A\
1 2 3 4 5 6 7 8 9101112 r
Month (1 <= January)

Number of visitors
(in hundreds of thousands)

a) 177.27 hundred thousand visitors per year 9B)® hundred thousand visitors per year  c) Z50.0
hundred thousand visitors per year  d) 325.00 retchthousand visitors per year e) 650.00 hundred
thousand visitors per year

9. (3%) Evaluate the integraj 20x"dx |

a) 1406+C  b)160X’+C  ¢) %XG +C  d) %x8+c e)§x7+c
10. (3%) Use algebra to rewrite the integrand; tihéegrate and simplify.

dx

X+ 2
v

2
a)%X\/;( +2/x+C b)gx& +4/x+C c)§Xx/;<+6/;<+C

DIX+/+C @) 3+ axC
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11. (3%) Evaluate the integrafl 7x*v/x° + 7 dx.
a) %(x9+7)3/2+c b) %(x9+7)3/2+c 0) %(x9 +7)Y2+C

7
d)—X"‘C e)%x9+C
4 4
12. (3%) Use the value_[sf (x)dx =8 andjg(x)dx =1 {0 evaluate the definite
0 0

integralj.[ f(x) - 2g(x)]dx .

a)l0 b)6 ¢)7 d)9 e)8

13. (4%) After test-marketing a new menu item,sd-faod restaurant predicts that sales of the hemv i

aS_ 4

will grow according to the modeﬁ :W , Wherea is the time in weeks arflis the sales (in

thousands of dollars). Find the sales of the mtam at 30 weeks.
a) 4.015 thousand dollars  b) 4.103 thousand ollac) 4.188 thousand dollars
d) 3.834 thousand dollars  e) 3.925 thousand dolla

14. (3%) Find the area of the region bounded bygthphs of the given equations. Round your ansaver t
two decimal places.

8x

y:—
VAX+ 2

a) 28.15 square units b) 56.31 square units 18@)7 square units

, Yy=0, x=8

d) 84.46 square units e) 37.54 square units
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15. (5%) Evaluate the definite integral

3
jx3 In xdx

1

Round your answer to three decimal places.

a) 17.747 Db) 18.810

16. 47T 5 & 5 s BB F et

c) 16.144

d) 17.247 15.484

- 1 - n+1 1 =1 - 1
(@Y= MY FE)'= ()5 WY-—: (16%)
n=1 n=1 n n=1 n = nlnn
17. £y — (10%)
~, n(n-1)
18. Bk f(X)=xe™ 2 2 & b ® B (-0 0)t » & f ha=0:z (S AL EK (12%)
19. fedde f(xo> y)=x2+2y? &35 % x—y-1=02 T &+ @& & (12%)
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